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If	
  you	
  are	
  talking	
  about	
  stopping	
  a	
  par<cle	
  in	
  
some	
  period	
  to	
  TIME,	
  you	
  need	
  to	
  look	
  at	
  the	
  
body’s	
  impulse	
  and	
  momentum	
  change.	
  	
  If	
  you	
  
are	
  talking	
  about	
  stopping	
  a	
  par<cle	
  over	
  some	
  
DISTANCE,	
  you	
  need	
  to	
  look	
  at	
  work	
  and	
  energy.	
  	
  
The	
  is	
  a	
  work/energy	
  problem.	
  	
  No<ng	
  that	
  an	
  

 

Wnet = ΔKE
   ⇒    WE  does on electron in stopping it = KE2 − KE1

   ⇒    
!
FE •
!
d = KE2 − KE1

   ⇒    
!
FE

!
d cosθ = KE2 − KE1

   ⇒    eE( )d cos180o( ) = −KE1

  ⇒    − eE( )d = −KE1

  ⇒    E = KE1

ed

d

electron	
  moving	
  with	
  an	
  electric	
  field	
  will	
  slow	
  down,	
  we	
  can	
  write:	
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